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#include <stdio.h> /198

/5 40| &

int sum(int x, int y)

{

2l 'stdio.h' T

#e 7%

int s/
S=X+y
return s; /134 sum()Q] BHetgr
}
double avg(int x, int y) /15 2] Bd& 38
{
double a;
a=(x+y /20
return a; /34 avg()e] gt
}
int main(void) [/E2IH2 3t main()5E A2}
{
int x = 100, y = 200;
printf("%d\n", sum(x, y)); //&3 1 300
/&3 1500

printf("%5.1A\n", avg(x, y));

return 0;
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#include <stdio.h>
void main(void)

// QEIY 'stdio.h’ THY

int a, b; /| 88 28 7|72 ¥4
a=1 /] a=72 HH
b =
o {
int b, c /] A FEH
b=3 /Il be &5 20| MA" A
c=4
a=b+c //a=b+c=3+4=7
-}

printf(“%d\n”, a);
printf(“%d\n”, b);

a, b= H|A| g4
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#include <stdio.h>
inta=1,b=2c¢c=3
int f(void)
{
int b, ¢/
a=b=c=4
return (a + b + c);
}
void main(void)
{
printf("%3d\n", f());
printf("%3d%3d%3d\n", a, b, c);
}
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 printf('%3d%3d%3d\n", a. b, ¢); //E3 : 423
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#include <stdio.h>

int star = 10
void printStar() { printf("%d \n", star); }
int main()
{
int star = 5,
printStar();
printf("%d \n", star);
return 0;
}
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// QAEH 2O} XpEH{L
#include <stdio.h>

int star = 10 /] QQEH A A )
void printStar() { printf("%d \n", star); } // &% : 10
int main()
{
int star = 5; /] AtSHAS(RA|HE )
printStar();
printf("%d \n", star); /] &3 : 5
return 0;
}
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#include <stdio.h>
void main(void)

{

inta=1b=2c¢=3

{
intb=4,c=5
a=b
{
int ¢
c=bhb
}
printf(“%d %d %d\n”, a, b, c);
}
}
®123 @145 ®423 @445
& EEAZX
void main(void)
- I &% 1
inta=1,b=2¢=3 /] a=42 HY
—{ /| 22 2
| intb=4,¢c=5
a=b Il ag 25 20| MAE A, a=4
{ 2583
int ¢
I c=b /l be &5 20| MAE A, c=4
printf(“%d %d %d\n”, a, b, c); // a=4, b=4, c=5
- }
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